FH: nSHA W
U TADS BHSH+SLTE/UEDE - SRSIIEN
tel: SANSMS(SARSMASESSIA) (98
SNBSS NRAY - B2 03] &+ o ol o HlE2
nsdd 17,050,000 15,500,000 1,550,000
= 818,000 693,000 125,000
S 3,600 3,600 0
Al 16,228,400 14,803,400 1,425,000
SARE 483 (5L WS /UHERE - SRSIIE) 6,104,242 5,226,242 878,000
= 818,000 693,000 125,000
= 3,600 3,600 0
Al 5,282,642 4,529,642 753,000
SANDEMS(TAIRSALESSIA) 6,104,242 5,226,242 878,000
= 818,000 693,000 125,000
= 3,600 3,600 0
Al 5,282,642 4,529,642 753,000
SAnS2el 81,691 74,090 7,601
101 Q12| 9,803 7,842 1,961
04 JIZAHZ 2SS E= 9,803 7,842 1,961
OSRH= +=Es3AXE AE A 1,961 0 1,961
-012 35,2003 x 10 »5& 1,765 0 1,765
-AEE JI2RES 1,765,000& *11. 1% 196 0 196
201 LEH2HH| 40,080 34,440 5,640
01 AtR22itl 34,780 30,940 3,840
O1. L= 31,340 27,500 3,840
-NERUTUD AEY JHCAE 248
10,000,000 3. 2%+ 122 3,840 0 3,840
02 3323l 5,300 3,500 1,800
O3. A€ ZHIS X4 1,800 0 1,800
-USRYFES RECAMAE KA
300,000 62 1,800 0 1,800
EHAl 2t e 60,220 56,220 4,000
401 Al HI LS HHI 8,000 4,000 4,000
01 Al£Hl 8,000 4,000 4,000
OEHAISXH £X 2,000,000 #24 4,000 0 4,000
wWSAENA 1,805,874 1,505,874 300,000
401 Al HI LSO 1,714,824 1,414,824 300,000
01 Al£HI 1,710,000 1,410,000 300,000
QusetdAlZE X & R 1,000,000 800,000 200,000
-g 22U Z & 500,000,000& =14 500,000 400,000 100,000
S Z & 500,000,000& =14 500,000 400,000 100,000
OXtH =M 2 & 200,000,000 * 14! 200,000 100,000 100,000
HE0IESFYMEMB(EX) 1,242,212 992,212 250,000
& 618,000 493,000 125,000
Al 624,212 499,212 125,000
401 AlEHI LS HH 1,242,212 992,212 250,000




FA: nSHEL
HHM: CAWNE L (5L WE/HERE - EFSIIE)
tel: SANSMS(SARSMASESSIA) (ehel: =3
SA-EFH - SA(SAH) - MREAY - BES Off &F K I8N BlusZ
& 618,000 493,000 125,000
Al 624,212 499,212 125,000
01 Al£Hl 1,236,000 986,000 250,000
ONeloIES S JHe ALY
Z & 630,000,000& * 14! 630,000 380,000 250,000
315,000 190,000 125,000
315,000 190,000 125,000
WEZBHH2Z 778,894 738,894 40,000
207 A 1OH 2| 180,000 200,000 220,000
01 g1 E3HI 180,000 200,000 220,000
OXNsSEUSAAH(ITS)2AEII2HE S Y
Z & 180,000,000 * 14! 180,000 200,000 220,000
401 AIEHIZ 208 391,420 331,420 60,000
01 Al&HI 389,050 329,050 60,000
OUSAHSHA HAss 0/B7R= & J=2SF
10,000,000 600 Jt2= 60,000 0 60,000
=XHEMEE(ER) 363,576 296,167 67,409
101 Q1A 3,921 0 3,921
04 DIZNZZ2ASES 3,921 0 3,921
OF - X ENMAZ(AAHAEHDIE) 3,921 0 3,921
-2 35,2003 x2H +x50 3,529 0 3,529
A2 JI2RES 3,529,000 *11. 1% 392 0 392
201 et 176,251 171,051 5,200
02 3323l 136,251 131,051 5,200
O3. A& &HIF XY 18,300 15,100 3,200
-=8 = FktL FEEIE ALY 014
3,200,000& 3,200 0 3,200
O4. Xt et| 9,271 7,271 2,000
-5 Z & 4,635,000 =1CH 4,635 2,635 2,000
207 SO0 2| 18,000 0 18,000
02 & AR 18,000 0 18,000
OIS A FAIAE 6,000, 000& 6,000 0 6,000
OYFHMAIAE 6,000,000& 6,000 0 6,000
OZAZEIAIAEH 6,000,000 6,000 0 6,000
401 AIEHIZ R0 80,720 40,432 40,288
01 Al£HI 80,000 40,000 40,000
OSsolctEdtneH (M e L8) &X
Z & 40,000,000 29 2~ 80,000 40,000 40,000
03 A&=20HYI 720 432 288
ORQCtEItMet 84X S|
Z & 80,000,000 *0.90/100 720 432 288
=UHEMEE(ST) 425,462 402,435 23,027




FH: nSHA W
B CADS BHH(SSUNE/HELSE - 2RSIIE)
tel: SANSMS(SARSMASESSIA) (ehel: =3
SNBSS - MBAY - BES 0 & 24 pJE-T {imE=Eh
201 LEH2HH| 245,556 240,529 5,027
02 =234l 208,480 203,453 5,027
O4. Xt et 11,000 5,973 5,027
-=g Z & 4,850,000 104 4,850 2,635 2,215
-3t= Z & 6,150,000 = 1CH 6,150 3,338 2,812
207 AN 18,000 0 18,000
02 & &R 18,000 0 18,000
OJtat H BAIAE 6,000, 000& 6,000 0 6,000
OYFolHAIAE 6,000, 000& 6,000 0 6,000
OZAZEIAIAH 6,000,000& 6,000 0 6,000
ol gl bl 409,066 223,103 185,963
801 Oildldl 409,066 223,103 185,963
01 obl8l 409,066 223,103 185,963
OEANSAY 0lblb] d & 409,066,000 409,066 223,103 185,963
S8H =Y e (+=SHNE/UHSLS - ERSIIH) 10,551,441 9,879,441 672,000
FUHHAS (A LEMLEESIH) 10,551,441 9,879,441 672,000
ST FTE e 1,498,198 790,638 707,560
201 =&l 209,014 5,614 203,400
02 2323l 203,400 0 203,400
O1.2223ZHA 203,400 0 203,400
-SEFXNE, HAXDX FIINIM =2
203,399, 350& 203,400 0 203,400
309 B EES 1,193,664 783,404 410,260
02 SAt- SHIYHEES 1,193,664 783,404 410,260
OZ3Z=XE Ag2e83H ZLUEES
23 1,193,664,000& 1,193,664 783,404 410,260
401 Al&HI LR OHYI 90,000 0 90,000
01 Al&HI 90,000 0 90,000
OBYEXE A SN2S
3,000,000 104 2 30,000 0 30,000
O=F=xt&2| POA & X 60,000,000& * 14| 60,000 0 60,000
404 SO H=dES 3,900 0 3,900
02 SM - SEHH=EES 3,900 0 3,900
OZ3Z=XE A£2e83Y H=dEs
3,900, 000& 3,900 0 3,900
ol g1 bl 185,950 221,510 A 35,560
801 oildldl 185,950 221,510 A 35,560
01 obl8l 185,950 221,510 235,560
OFXHE ALY ollbl gl Z& 185,950,000 185,950 221,510 35,560




